510 =10
K c
= =
= 3
S [
S %
©
1072
1073 :
o 1ef s 4 L o - L Liiun
T r T T r il
o 1+ ++ d fo 4 4T o 1+ - AL
M+ + 1 ::“ I ¥
0.8t - F1{-1:+ 1 A O R TR PEEPPEEPPEE 0.8F R P ¥ R PEPPEEPPED
- +4 - g 2
107 1 10 0 . 10° 107 1 10 0 . 10°
TP, (PCA t% beamling TP, (PCA t% beamline
—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew7_step2_tthar-phasel-newgeom
IS IS I O S S
S e 4
> ;N I PP S
o]
o 2 +
o [s]
107"
1072
el el
T T
o o
0.7E LU
10* 1 10 0 . 10°
TPp, (PCA t%) beamling
n=
o
s
o
()
=
©
E
-
107} #3
010-2 N [ I PR Y e
= - L]+ 4+ H
E 1.2 ;“-15;- """""""""
1-—- ~ B R e R EE
L 8 4
- A ¥ T



	Contents
	Page 1


